



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 + \frac{3}{4}\left(\frac{3}{4} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{2}{5}\right) \times \frac{1}{3} + \left(\frac{1}{4} - \frac{3}{4}\right)^2 =$$

$$\left(4 + \frac{3}{2}\right)^2 + \frac{1}{2} + \frac{1}{3} - 2^2 =$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{2}{5} \times \frac{3}{4} \times 2^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{3}{4} - \left(\frac{2}{5} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{4} + \left(\frac{3}{2}\right)^2\right) \times \frac{3}{5} - \left(\frac{3}{5} + \frac{3}{2}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{3}{4} + \frac{1}{2}\right) =$$

$$\left(\frac{1}{3} + \frac{1}{6}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \left(\frac{1}{6}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{2}{3}\right)^2 - \frac{1}{2}\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(4 - \frac{1}{4}\right)^2 + \frac{1}{2} \times 4^2 + \frac{2}{5} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 + \frac{3}{4}\left(\frac{3}{4} + \left(\frac{1}{2}\right)^2\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{2}{5}\right) \times \frac{1}{3} + \left(\frac{1}{4} - \frac{3}{4}\right)^2 = \frac{17}{135}$$

$$\left(4 + \frac{3}{2}\right)^2 + \frac{1}{2} + \frac{1}{3} - 2^2 = \frac{325}{12} = 27\frac{1}{12}$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{2}{5} \times \frac{3}{4} \times 2^2 = \frac{381}{20} = 19\frac{1}{20}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{3}{4} - \left(\frac{2}{5} + \frac{1}{3}\right)^2 = \left(-\frac{2611}{3600}\right)$$

$$\left(\frac{1}{4} + \left(\frac{3}{2}\right)^2\right) \times \frac{3}{5} - \left(\frac{3}{5} + \frac{3}{2}\right)^2 = \left(-\frac{291}{100}\right) = \left(-2\frac{91}{100}\right)$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{3}{4} + \frac{1}{2}\right) = \frac{127}{200}$$

$$\left(\frac{1}{3} + \frac{1}{6}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \left(\frac{1}{6}\right)^2\right) = \frac{2}{27}$$

$$\left(\frac{1}{2} + \frac{2}{3}\right)^2 - \frac{1}{2}\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) = \frac{2369}{1800} = 1\frac{569}{1800}$$

$$\left(4 - \frac{1}{4}\right)^2 + \frac{1}{2} \times 4^2 + \frac{2}{5} = \frac{1797}{80} = 22\frac{37}{80}$$